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Time Allowed : 1.30 Hours ] [ Maximum Marks : 40
ofleyenraar : (1) ooasg alamssess sfuresl uslaurdl e eaiatar aarugmend slumtsgis

Qaretateynd. FslusSlelle  @eapullmliller, o@néseantsreaflliurerilb
o Lanqunas Qsilellésald.

(2) ped SO G) S(HLIL e LouSlen e L HCw CT(LPSHIUSD GLD
2lg5Canghausn@ld LwuaTURSS Ceuant(Hd. ULBSET  euaTeusn &
Queéled LWaTLHSSELD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.
u@é] -1 / PART - |

GOy : (i) DG F allanésErs Gl allnwallssayLd. 5x1=5
(i)  Ger@ésuu’ (Herer Brar@ wrmn elmLsalled Blsaw ghyamLw allomws
Caih0s(0s816 GO GLear allomLwWlmeann Csisg er(psaibd.

Note : (i) Answer all the questions.
(i) Choose the most appropriate answer from the given four alternatives and write the
option code and the corresponding answer.

1. @M smanl @uhslrs, prmell Yeatells@h Bilar e ampbloaliyearalsen (ual) Qe ulld
Cama Cswidlng erafld wsar Luandver
(=) 26.81% (<) 37.81% @) 47.81% (FF) 57.81%
The efficiency of a Carnot’s engine, working between steam point and ice point, will be:
(a) 26.81% (b) 37.81% (c) 47.81 % (d) 57.81%
2.  podwey eny gadar e ope U woow  upoer Vo oy dlumer @

L RISTESULL LT Sjeleumualler i(PSsd eraiaeun@h ?

(=) QbLEISTED (QL,) Irg)

@) urdlures Genpud (F) B WLLmE Ssis @0

If the internal energy of an ideal gas U and volume V are doubled then the pressure:
(@) doubles (b) remains same

(c) halves (d) quadruples
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3. Qauiuwrer Geren stgsled srgryeam Bl Gelss Ulearer pog o L e :
() Si% DD G@PULDd (<) =15 Spped Hdlsfls@Ld
(@) Geuliub Genpujd
() =8 <y ooe PP Qauliugslad wrPPL Bleprs
In hot summer after a bath, the body’s
(@) internal energy decreases (b) internal energy increases
(c) heat decreases
(d) no change in internal energy and heat
4. QauiuBlenaw T = 300K —a @rewt(h Comesem @raml epadanmn bealueL eurujaller Gwrss

D& YDOED ....oee.n.n. J. (R =8.31J/mol.K)
(=) 5479 (=) 7479
(&) 6479 () 8479

The total internal energy of two moles monoatomic ideal gas at temperature T=300K will be J.
(Given R=8.31J/mol.K)

(a) 5479 (b) 7479
(c) 6479 (d) 8479
5. srirad alldlllaTiig. Limwear g QeuliLblees @orer euanFuL LD :
(=) @0 CpisGan® (=) @@ BeTauLLb
(@) @@ UreueTILD (rr) 6(H @IL_LLD
The graph between volume and temperature in Charles’ law is
(a) a straight line (b) an ellipse
(c) a parabola (d) a circle

L@ -1l / PART - 1l
GO : aeaCuad BrarE allamsse@rse el wallssad. allam et 11-6@ &L LMWLOTS
@ﬂm;u@ﬂé&&mﬁ). 4x2=8
Note : Answer any four questions. Question No. 11 is compulsory.

6. “Gurent gar Ceulil gHUSSnear” — auaTUDISSa|D. ST DOE WG ?
Define “molar specific heat capacity”. Give its unit.

7. @m GCauu Quislind esa swnsl pleyellar Gurg 500 J GQaluseas Qe
wpassllmbg Qupms Qstar® om GOV L GCaomeemw Qsuig Slaery 300 J
Qauiusems oasE (Qaiu gpllss) Qarhsdng. AbbHlunbsmasailaiy ops Ceui
Qupdlrsdlar Lweam Shamers sras.

During a cyclic process, a heat engine absorbs 500 J of heat from a hot reservoir, does
work and ejects an amount of heat 300 J into the surroundings (cold reservoir). Calculate the
efficiency of the heat engine.
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P-V cuenguL LD eTermmed erevtent ?

What is P-V diagram?

QL eumer Gure avGwer all$luilenar smdl oigar Carameuemw 6r(PsayLb.
State Stefan - Boltzmann Law and write its expression.

Auallar @LuQuwisdl aldlows s ms.
State Wien’s Displacement Law.

walls@rmmeur 2 kg BleopweLw Bilmer gOlY s6876m86 CaTamT() S0&@GHMSE P
30 kJ Gaumaemwé Qewidlpnt. gpssmp 5 keal Qeuiun Biledlmbg Geuafliul G Carerseefler
Ly eufiCw Qauliussl g6 wpnd QaILsssiT aléslar ppald &YaIsES sL&sLLESIDg
aTaled, iemLLILTET 216 pHme LINILITL L& STens.

A person does 30 kJ work on 2 kg of water by stirring using a paddle wheel. While stirring, around
5 kcal of heat is released from water through its container to the surface and surroundings by
thermal conduction and radiation. What is the change in internal energy of the system?

u@g - Il / PART - 11l

GOy : aaaiCuad prarg allamssens@ allwlwallésea|w. allam erar 17-&@ &L LTwors

Note

12.

13.

14.

15.

16.

17.

@ﬂm;u@ﬂé&&mﬁ). 4x3=12
. Answer any four questions. Question No. 17 is compulsory.

sryGamm QauliL Qubdlrssler LwuansSnassra GaramaiemwLs Qums.
Derive the expression for Carnot engine efficiency.

Sl LQurmersaflar e allfley LDP elleré G s.
Explain linear expansion of solid.

ﬁ]eo‘reu@l_b Lfﬂaal&bmaa@éaaarrem PV aienrUL_m&eneT euenys.

i) (PSSO LM Blspey ii) LI(HLOGT Lmom Hlepey
Draw the PV diagram for :
i) Isobaric process i) Isochoric process

QauliLd ger gL tar Qurmelledmbe Gellieslurer QuImErsE LTgng ?

Why does heat flow from a hot object to cold object?

Be Blepey peL QUpeugH ST HlLbSmeTsem Wramal ?

What are the conditions for reversible process?

Qe Sl @efliugeans Qul iy gamy ol meauss Ll Herer QurmeTsailar QauLiLblameew
00C-&) eneussmélang. @efliiugearns QUL iy meussliLl Herer empuilear QeuliLblae 270
C erafled wi&@eiugeas Quliquilar Gewadvear Garssmss (COP) srews.

An ideal refrigerator keeps its content at O °C while the room temperature is 27 °C. Calculate
its coefficient of performance.

[ &lmLiys / Turn Over
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U@ = IV / PART - IV
GOy : Smarsg allamss@rsEn allmlwallsseLb. 3x5=15
Note : Answer all the questions.
18. (=) paoedlwel ey geardpsrer Guwr Qs femuls Quns
DG

(=) Qauiupleoe wrpr Blepeallsd Qeuwiul L Ceamasarar FLETUTL ML auHalksHaLb.

(@) Derive the Mayer’s relation for an ideal gas.
OR

(b) Derive the equation for the work done in an isothermal process.

19. (o) Qeswadpa Garasms aumrunsse|d. GeaTugaIOUL 4 eadlar Qeweum L
afleurs ellers @s.
DO g|
(=) Qeuin allfley erairpred erevian ? jeundlar epen cumasmen allersd),
SjaundinSlenCuiwrenr QgrmSlener eumall

(a) Define coefficient of Performance. Explain in detail the working of a refrigerator.
OR
(b) What is thermal expansion? Explain the three types of thermal expansion and obtain

the relation between them.

20. (©) Gewul uflomplsloer slepalle Qeuiwliu’ L Camessnear sweaun Ll Qums.
DO g
(=) Byl Lar @efliey allglaw allfleurs allers @a.

(@) Derive the work done in an adiabatic process.
OR

(b) Explain in detail Newton’s law of cooling.

-000-

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://www.youtube.com/@Padasalai-net
https://www.youtube.com/@Padasalai-net

